

Exaktlös. see

$$5. \quad \underbrace{x(y^2+1)}_P dx + \underbrace{\left(\frac{1}{\sqrt{1-y^2}} + x^2 y\right)}_Q dy = 0$$

$u = u(x, y) \rightarrow$ für ex. Lösung
tot. dif.

(über $\left(\frac{1}{\sqrt{1-y^2}} + x^2 y\right) y' = x(y^2+1)$)

$$(*) \quad du = \frac{\partial u}{\partial x} dx + \frac{\partial u}{\partial y} dy = 0$$

P **Q**

$$\frac{\partial^2 u}{\partial x \partial y} = \frac{\partial P}{\partial y} \stackrel{!}{=} \frac{\partial Q}{\partial x} = \frac{\partial^2 u}{\partial y \partial x}$$

$u = ?$ ist ein Polynom

$$2xy = 2xy \quad \checkmark$$

$$\frac{\partial u}{\partial x} = x(y^2+1) \quad | \int dx$$

$$u(x, y) = \int x^2(y^2+1) dx = \frac{x^2}{2}(y^2+1) + K(y) \quad \rightarrow \quad \frac{\partial u}{\partial y} = \frac{x^2}{2} \cdot 2y + K'(y)$$

$$\& \quad \frac{\partial u}{\partial y} = \left[\frac{x^2 y}{1} + \frac{1}{\sqrt{1-y^2}} + x^2 y \right] \Rightarrow K'(y) = \frac{1}{\sqrt{1-y^2}}$$

$$K(y) = \int \frac{1}{\sqrt{1-y^2}} dy = \arcsin(y) + C_1$$

$$u(x, y) = \frac{x^2}{2}(y^2+1) + \arcsin(y) + C_1$$

$$(*) \Rightarrow du = 0 \quad (\Rightarrow) \quad u = C_2 \quad \text{konst.}$$

$$(C = C_2 - C_1)$$

O.Ř.: $\frac{x^2}{2}(y^2+1) + \arcsin(y) = C$

impl. bzw. res. (Z. expl.)

cauchy

$$\left[\frac{1}{2} + 0 = C \right]$$

Exaktlin' ree

$$y(0) = -\frac{1}{2}$$

6. $2xy - 9x^2 + (2y + x^2 + 1)y' = 0$
 Exaktlin' ree

$$df = \underbrace{(2xy - 9x^2)}_P dx + \underbrace{(2y + x^2 + 1)}_Q dy = 0$$

$$\frac{\partial f}{\partial x} = P \quad \frac{\partial f}{\partial y} = Q$$

$$\frac{\partial f}{\partial x \partial y} = 2x \quad \frac{\partial f}{\partial y \partial x} = 2x \quad \checkmark$$

Exaktlin'

man $\frac{\partial f}{\partial x}, \frac{\partial f}{\partial y} \rightarrow$ Merkm. f. potenziell
funktion

$$f = \int \frac{\partial f}{\partial x} dx = \int 2xy - 9x^2 dx = x^2y - 3x^3 + K(y)$$

$$\wedge \frac{\partial f}{\partial y} = x^2 + K'(y) = 2y + x^2 + 1$$

$$K'(y) = 2y + 1 \quad || \int$$

$$K(y) = \int (2y + 1) dy = y^2 + y + C$$

$$f = x^2y - 3x^3 + y^2 + y + C \quad df = 0 \quad || \int$$

$$x^2y - 3x^3 + y^2 + y = C$$

impl. ree

f = const
 (isokline)

Cauchy:

$$0 - 0 + \frac{1}{4} - \frac{1}{2} = C \Rightarrow C = -\frac{1}{4}$$